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Topic:- General Knowledge and Logical Knowledge

1) Children’s day is celebrated on ./ 919 fead P HATIT ST 2
1. 5™ September / 5 FdeR
2. 14™ November / 14 FdeR

3. None of these /ﬁﬁ@[ﬁ'&cqﬁ
4, None of these /Ezlﬁ @fﬁé :I%T

5.1t May /178
Correct Answer :-

o 14" November / 14 TGeR

2) Which railway station has the most number of platforms in India? / HRd H fra Yod R & WewiH ot
ST Hed S 72

1. Sealdah / ﬁl’qlﬂa_é

2. New Delhi / 78 faeeft

3. Howrah / gIdSI

4. Chhatrapati Shivaji Terminus / ®=Uld fRraTeil T

Correct Answer :-

e Howrah / BIdSI

3) Which was the first Indian silent film? / u‘s'él‘r YR P Wﬁq It fi?
1. Alam Ara / 3TcTH 3RI

2. Aag [ ST

3. Raja Harishchandra / 3o 8RY=

4. Bandini / St

Correct Answer :-

()



» Raja Harishchandra / XTSI giers

4) Which of these National Parks is located in Manipur? / $79 & DI AT ?T@'q SElT Ilfal'ﬂ? A fRag?

1. Corbett National Park / GART TI'@'J RIS

2. Kuno National Park / ?’ﬁ Tl'@'q REIG
3. Keibul Lamjao National Park / W GLSIE] QT@Z{ 3
4, Simlipal National Park / Riaferarer U\Tg:m 3=

Correct Answer :-
 Keibul Lamjao National Park / W SLSIEN] T@'q 3

5) Which one of the following is known as the 'Pearl City'? / Fraifea d @fﬁq-ww et Ry & I I
ST ST &2

1. Kochi / @l
2. Panaji / TOTSTt
3. Kandla / STl

4. Hyderabad / %aﬂa Q

Correct Answer :-

« Hyderabad / BexIeIG

6) Which is the longest bridge over water in India? / HRd T S IR 9911 9o aT gd cack| %?
1. Bhupen Hazarika bridge / HUH §S1IR®T G

2. Bandra-Worli Sea Link / STFT a¢if I9% g

3. Nehru Setu / W@ﬂ

4, Vikramshila Setu / TashHIRIe ¥

Correct An#wer -
» Bhupen Hazarika bridge / @7{ ESURED qd
7) Malanpur Industrial Area is in / w Gﬁgﬂﬁ? é'aﬁ' ﬁf@ﬁ[ %?
1, Gwalior / TaTfeIIR
2. Morena / ARAT
3. Shivpuri / TRIAQRY
)



4, Bhind / ¥

Correct Answer :-

« Bhind /%S

8) Ghatigaon Wildlife Sanctuary is located near which district of Madhya Pradesh? / ISR a=goitg

SUYRUF AL U & e Foral & o R 32
1. Gwalior / TTfeIOR

2. Thabua / SIS

3. Bhopal / HIIT@

4. Alirajpur / H?ﬂw
Correct Answer :-

« Gwalior / TIRIIR

9) Where is the headquarters of the West Central Railway Zone located? / Uf3¥ T Y@rd 914 BT HEITayq

S (U 37

1. Bilaspur / m
2. Jabalpur / STdcTYR

3. Hajipur/ EW‘ﬂ'ER

4. Allahabad / TTgIdTg

Correct Answer :-

 Jabalpur / STSCIYR

10) In which city will you find the Victoria Memorial? / faeiar Anifvae sy fvw =rex & urda?
1. Kolkata / SIeiepTell

2. Chennai / %a's“

3. Mumbai / Ha_ic
4, Indore / Q_Qﬁq

Correct Answer :-

« Kolkata / PIIBIT

11) The famous activist Medha Patakar is associated with which movement? / Flﬁl@ BB AT qich
fr Srieias @ 9t 82
» 4)



1. Save the Tiger/ﬁaa GIELES]
2. Beti Padhao Andolan / 91 UGT3N 3fiGid
3. Narmada Bachao Andolan / :ﬂ:f?ﬂ CEIE \’rﬂ?a?l:f

4. Bachpan Bachao Andolan / U TSI 3Higie

Correct Answer :-

e Narmada Bachao Andolan / "I*-le oddld 31'IC':|Q'I"I

12) The river that is called “ Daughter of Lord Shiva” / dg qﬂ' ﬁlﬁ' «RTgT= g &t E’?ﬁ” el Sildl %l
1. Ganga / |

2. Son /&M

3. Narmada / T

4, Yamuna / YH-T

Correct Answer :-

¢ Narmada / :iﬁa

13) Who is the current Chief Election Commissioner of India? / HIRd & G| H@ﬁaﬁq ST DI 82
1. Achal Kumar Jyoti / 3Td¢] DHR St

2. V.S. Sampath / Eﬁw Jud

3. Nasim Zaidi / THH Sfdl

4, Harishankar Brahma / FW BRI

Correct Answer :-
« Achal Kumar Jyoti / 3&¢ $HAR Sl

14) Who established the original Archaeological Museum on the hilltop of Sanchi? / Wﬁﬁqﬂﬁﬂ PR
ST R TIETAT D RITYAT fhea= @1 e

1. Marshall Durand / FTRId §?. S
2. Charles Correa / WW
3. Sir John Marshall / TR S IS

4. Sir Thomas Roe / TR YA A

Correct Answer :-

« Sir John Marshall / TR 19 ATl

(%)



15) Find the odd one out: /wﬁwmaﬂﬁm;
6,12, 18, 25, 30

1. 30
2.18
3.25

4,12

Correct Answer :-

e 25

16) First General elections in India were conducted in / HURE ® TYH 3T gq1d T amaifora fed
Y

1. 1950
2. 1952
3. 1948

4. 1955

Correct Answer :-

17) In a certain language dum dam domn means white sweet sugar and bamn samn domn means shirt was white .
Then in that language the word domn is used for: / Th W 'Q'ﬁ'g HTHT ﬁ, dum dam domn BT Gf?f white sweet
sugar 3R bamn samn domn &1 Y shirt was white g’]?ﬂ %l E55| PIS HIYT H domn & f%l'Ef o9 3reg BT

AT fPaT T 82
1. sweet
2. white
3. sugar

4. shirt

Correct Answer :-

e white

18) If REMOTE is coded EROMET, then how is COMPUTER coded? /Tf¢ REMOTE &Y EROMET | Hifed fpar

W4T 8, 9 COMPUTER &1 &d HITSd [T SN2

1. OCPTMUER

(6)



2. OCPMTURE
3. COPMUTRE

4. OCMPTUER

Correct Answer :-

« OCPMTURE

19) How many different eight letter words can be formed using the letters of the word 'BUSINESS', if repetition is

not allowed? / f¢ TRTGA ®1 3rgaf 18T 8 1 'BUSINESS', ]TeG & 31&IR] BT SUTNT RSP 3116 3H&RT &
e fafirs zreg aFITT o I@d &2

1. 6720
2. 13440
3. 1680

4. 40320

Correct Answer :-

« 6720

20) Select the option that is true about the Statements and Conclusions given: / 3 e w1 ﬁ"\;rl'l'{ il

o few T By 3R Ayl & IR A HET B:

Statements: / PY-:
All singers are good actors / I e I Hﬁ-ﬁ’cﬂ%
Rohan is a singer / T8 Teh TP &

Conclusions: /ﬁ'ﬁﬂf:
I. Rohan is a good actor / ﬁ'é’fw 33T Glﬁ-lﬁ?ﬂ%
Il. All good actors are singers / Tt ey GMHTW%

1. only conclusion Il follows / Wﬁwﬂf Il Gr:mwm%

2. only conclusion | follows / Had FTpy | WW%

3. neither conclusion | nor conclusion Il follows /:fgﬂ%ﬂﬁb_ﬁfl Gﬁ?':fé:fﬁl'@b_ﬁf 1l &H\EITUTW%
4. both conclusion | and Il follows / f&HY | GhT 1l Ea:ﬁ GFJFR'UTW%

Correct Answer :-
 only conclusion | follows / Had FTpy | &WW%

21) Shanti Swarup Bhatnagar Awards is conferred on/ P ifd WY USATR REPRI I
T foar ST g1

1. Musicians /W
» (7)



2. Painters / RIABRI
3. Scientists /é?ﬂﬁﬁ
4. Psychologists /ﬂfﬂaswﬁﬁ

Correct Answer :-

e Scientists /W

22) Complete the series choosing the missing number: / T BT DR AT Bl GRT DioIQ:
2,6,12,20,_

1. 25

2.28

3.30

4. 35

Correct Answer :-

e 30
23) Complete the series choosing the missing number: / & BT BT mﬁ I Piforg:

15, 20, 30,

1. 45
2.50
3.40

4.35

Correct Answer :-

24) Complete the series choosing the missing number: / & BT TAH FTAT Bl T BIfoTQ:
3,5,9,17,33,_

1. 52

2. 65

3.48

4. 60

Correct Answer :-

(8)



25) Select the option that is true about the Statements and Conclusions given: / 39 fd& e &1 a9

PIE St 7 2T 7T HYT 3R fAepul & IR A T8 &:

Statements: / Y:

Some fruits are not grapes / $© Bd X T E
Some vegetables are not fruits / $© TfeTd Bd Tl &

Conclusions: / faea:
I. Some vegetables are grapes /| $9 afesrai GFR %
IL. Some fruits are vegetables /| $© wd Jfowdl &

1. both conclusion I and Il follows /ﬁ'@?ﬁfl 3‘ﬁ? Il Eﬁ:h WW%

2. neither conclusion | nor conclusion Il follows /qﬁﬁ'@ﬁl ﬁ?qﬁﬁwﬁf Il WW%
3. only conclusion Il follows / Wﬁmﬁ@ Il WUTWT%

4. only conclusion | follows / Wﬁml mm%

Correct Answer :-

e neither conclusion I nor conclusion Il follows /:Tézfﬁﬁv—ﬁh aﬁwﬁﬁlmf Il G@WW%

26) Select the option that is true about the Statements and Conclusions given: / 39 fd®ed &1 a9

FrE ot fF e T Sy ik syl & 9 & 98 &

Statements: / ®Y:
All photos are albums / 9} STYIT TeaH &
All albums are laminations / Lkl TodH GIEERE) %

Conclusions: / fApu:
I. All photos are laminations / 9+f STRE AR €
IL, All laminations are photos / gt affm=E ETHT%E[%

1. only conclusion Il follows / Haa A=y |1 &WW%

2. only conclusion | follows / Had sy | WW%

3. neither conclusion | nor conclusion Il follows /qﬁml ﬁ?q@ﬁ&lﬂf 1l &WW%
4. both conclusion | and Il follows / fT&HY | GﬁT 1l ﬂ:ﬁ WW%

Correct Answer :-

 only conclusion | follows / Had fTpy | WUTW%

27) Select the option that is true about the Statements and Conclusions given: /39 Reusraaa

Hiforg ot & f4T T Y1 ok frepuf & IR § el &:

©)



Statements: /| ®Y-:
All floppies are CDs / I Wﬁ#ﬂtﬁ%

Some DVDs are floppies /| $9 SIS gt %

Conclusions: / farew:
I. Some DVDs are CDs / $3 Sidie! Hidt &
I1. Some DVDs are not CDs /| $9 SIS A e E

1. only conclusion Il follows / Haa sy 1 &Wm%

2. only conclusion | follows / Wﬁ'@ﬁfl GHHTUTWT%

3. neither conclusion I nor conclusion Il follows /qﬁﬁfﬁ@b—ﬁfl @T?Eﬁﬁ@ﬁf 1l &WW%
4. both conclusion | and Il follows / fI&pY | 3R 1] T WW%

Correct Answer :-

« only conclusion | follows / $ad Y | WW%

28) Who was the founder of Forward Bloc? / BIRAS sl & GRITTP DI U?
1. Shyama Prasad Mukherjee / Wmﬂﬁﬁﬁ

2. Vallabhbhai Patel / IEIHHTS Tl

3. Subhash Chandra Bose / gHTN d% aIg

4. Surendanath Banerjee / lﬁi:il?laﬂﬁﬁ

Correct Answer :-
« Subhash Chandra Bose / gHTY d% &I

29) The series given below contains a sequence of humbers. Identify the incorrect combination: /

T2 & 7€ graen B, GEmel 1 v HH SURRG T | Tad Ao Ugaig:
1,3,5,7,10,11

1.3

2.11

3.10

4.1

Correct Answer :-

(10)



The series given below contains a sequence of numbers. Identify the incorrect combination: / ==
3t TS S §, WISl $T1 UH 0 SR § | Tad Saie Uganig:

3,8,13,26,41,70

1.3

2.26

3.13

4.41

Correct Answer :-

e 26

31) If HUNTER is coded GTMSDQ, then how will NILESH be coded? / af¢ HUNTER & GTMSDQ
Sifsd fohar STdT 8, 9 NILESH &1 &d Sifed foar wm?

1. MKHGRF
2. KHFRGM
3. GRFKHM

4. MHKDRG

Correct Answer :-

» MHKDRG
32) Selection Committee for Dronacharya Awards in 2016 was headed by ./ 2016
TR REPRI & g aa= afifa @1 erpens GIRT 31 718 A

1. Mary Kom /ﬁ?olﬁ‘lﬁ:f

2. Pullela Gopichand /Qﬁ?ﬂ‘ﬁtﬁﬂ?{
3. Rajiv Yadav/?'lﬁﬂ’q’m

4, Kapil Dev/ﬁﬁéﬁ

Correct Answer :-

*« Mary Kom/ﬁﬁﬁq

33) If MUMBAIs coded NVNCBJ, then how is AMRAVATI coded? / ¢ MUMBAI &' NVNCBId
Pifed fBar ST 8, I AMRAVATI DY 1 Difsd fvar s

1. BNSBWBUJ
2. BNSBUBUJ

3. BMSBUBVJ
(11)



4. BMSBWBUJ

Correct Answer :-
e BNSBWBUJ

34) The Indians who were conferred with the Ramon Magsayay Award 2016 was Bezwada Wilson
and / 3 YR o 709 09 RIBR 2016 I THAT favam T o1, 3 SerarsT e ik
|

1. Sanjiv Chaturvedi /ﬂﬁﬂaﬂﬂa-?ﬁ
2. T M Krishna /EP[QTFW

3. Kiran Bedi /Wa’ff

4. P Sainath / QLTS

Correct Answer :-

e T M Krishna /E&@W

35) What is the capital of the states of Haryana and Punjab? / BTN 3fiR UST & IS4l ot ISTeTT
T E?

1. Gandhinagar / MR
2. Chandigarh / a‘glllé

3. Jamshedpur / \—rl'qw
4. Bathinda / Hf& ST

Correct Answer :-

« Chandigarh/ EEiD [

36) Complete the series choosing the missing letter/s: / &l SER/3MERY aﬁw et ﬂﬁTBT PIfoTC:
b__a__aab__ab____
1.b,a,b,a,b
2.a,b,a,b,a
3.a,b,a,3a,a
4,a,a,b,b,a

Correct Answer :-

e a,b,a,3a

(12)



37) Bharathi is eight ranks ahead of Divya who ranks twenty-sixth in a class of 42. What is Bharathi's rank from the

bottom? / YR, faaam I 316 WITT IR § T 42 B weim W Sfiwai W §1 - & HIRd BT I 1 e
1. 20th / 207

2.9th/ off

3.34th/ 3491

4,25t/ 259

Correct Answer :-

. 25th/ 25

38) In arow of 25 girls, when Momina was shifted by six places towards the left, she became 13th from the left end.

What was her earlier position from the right end of the row? / 25 agﬁa‘q‘raﬁwuﬁrﬁ, aaq‘lﬁmard’rah?w
T A AT foar T d ot 9 R 13 R W 3 it 39 ufed | gne (R 3 Suet urey | Rt
T e

1. 9th
2.6
3. Sth

4, 7t

Correct Answer :-
. 7th

39) In a certain code language King is brave is written ge dest axob and Our brave soldiers is
written dest dosta cesk, then how is brave coded? / Tdh @ HIS HIT ﬁ, King is brave ol ge dest
axob Torar Sran % 3R Our brave soldiers &\ dest dosta cesk @t SiTdT %, o brave & $A Hifed fpar
SRATT?

1. dosta
2. cesk
3. axob

4. dest

Correct Answer :-

o dest

40) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.

(13)



Choose the odd one out:

/ﬁagr@auarfr’, &R P o TYE RETT R | 37 W § Fad To o1 SISHR, AT FHMT § oaP TP
AT R

S A fauH &1 99 Fifoe:
1. XW
2. PO
3. FG

4. ML

Correct Answer :-

. FG

Topic:- Mental Ability and Mental Aptitude

1) ) i
In the sequence shown below, which figure comes next? / =N 6 T8 e H, 34Ter
TSI FieT AT IREM?

ST L
4 K o J v it \’
4 7 . "?.:‘ lg L : ! / l‘:—)
\"\LT;'J‘ \'. :'J_\n_ l‘x‘.“,.f 1“‘ L—J}- .
1 11 j1}H 1

1.

2.

3.

(14)



4,

2)
- ] b} 2
What percent of 2 is =7 / 2@ fhdeT iderg = 27
12 3 '3 3
1.75%

2. 66.66%
3. 90%
4. 88.88%

Correct Answer :-

e 88.88%

3)
The length of a gridle is 6% m, when 4% m is cut off, what will be the length of

the remaining part? / v FaT (Fsa) ﬁﬂﬁl’é’ﬁ% Hiex 8, Gla's?rdf%ﬁ?{a?ﬁf
&= SaT § a9 amar T oS a4 g

(15)



4)

If the following two squares shown below overlap, which one of the following options
is formed? / IfE & &1 g9t AT 61 &, af o7& & & &l a1 v fGohed ga3ar 7
q

gt

-

4.

Correct Answer :-

(16)



b

e

) In the sequence shown below, which figure comes next? / = 37 IR &E H, 31Tl
TR it &Y 3REN?
l z 3 4 3
1. ‘
2.
4, k

Correct Answer :-

¥

B |

6)
(17)



What is the annual interest rate for 25%, compounded half yearly? / 31 o aiftfe ﬂ"iﬁﬁ'l?l', 25% & ﬁ'I'Q' CILED
STl &% FIT 82

1. 50%
2. 56.25%
3.25%

4. 45%

Correct Answer :-
e 56.25%

7) What number should be added to both 3 and 2 in order to make them in the ratio 5: 4? /5: 4 % SIUTd o

T & 1T 3 3R 2 Q41 & a1 S s & o ey
1.4
2.2
3.1

4.3

Correct Answer :-

8) Average of 51 results is 20. Average of first 20 of them is 15 and that of last 30 is 18. What is the value of the

215¢ result? / 51 TTOTTHY T ST 20 | TUH 20 BT 3T 15 & 3R 3ifere 30 B7 3w 18 21 219 uRoma &7
T T BIT?

1. 180
2.210
3.90

4. 250

Correct Answer :-

» 180

9) If the length of a square is increased by 10 % and its breadth by 20 %, then, by what percentage will the

area of the new rectangle formed increase as compared to the original square? /afg 'U,a?a"f aﬁm's: 10 % AP

3R 3BT NSTS 20 % qP ¢ WTdl 7, 99 ¢ ARfa 3maa & &xvra o g ot &) ga-r o foraq wia=ra ot
Ui

1.32%

(18)



2. 24%
3.36%

4. 30%

Correct Answer :-

« 32%

10) If A alone does the work in 15 days, how much time will they take working together to complete the job, if

A is 30 % more efﬁcientthanB?/ﬂﬁmAmmﬁ ISﬁﬁWW%Gﬁ?qﬁBﬁmﬁA,
30 % 3 SFRAHRIE 8 9t 39 gl &1 A1y Arad? Frf o 1 HA | foa=n gwg aerm?

8 8
Sgdays / sﬁﬁ—rr

11 11
Sﬁdays / Siﬁ?ﬂ

15 15
Sj—?,dlays / Siﬁ\?ﬂ

z
8 days / Sj’—’_‘ﬁ_r[

il

[
S | /]

Correct Answer :-

SH days / Sﬂﬁ?v
23 23

11) School A enrolled 65 pupils for an exam and 80 % of its students had passed. In School B, 10 students more
than in School A had enrolled, but as compared to School A, 4 less had passed. What is the percentage pass in

School B? / feITera A A Usp wditern & € 65 fenfial @ Awifera far ofik 3T 80 % faremeif S<ivl &t
Y| faemea B ¥, faemeaa A &t gaar | 10 faemi 3R Awifea g, afe- fAeamaa A sigand 4 o
Situt guI fowmera B o Sl wfo=ra ®m g2

1.76 %
2.60 %
3.64%

4. 70 %

Correct Answer :-

. 64%
(19)



12) Two trains start running towards each other from two points 400 km far from each other. The speed of the
first train is 30 kmph and that of the other is 50 kmph. How much time will it take before both the trains meet

each other? / T Ga¥ & 400 fFrHt g &t R | &1 ¥ TH G Bt 3R T = Bl ¢ | Tgall ¥ oI a1
30 forelt wfer der ok gt &Y =ra so fomedt wfer der 31 i Yol & uer -ge 3 fires & fosae @i

1. 15 hrs / 15 9
2. 5hrs/59c
3.10 hrs/ 10 G¢

4.8 hrs /8 T

Correct Answer :-

. 5hrs/5‘€i%

13) Two trains of equal length are running on parallel lines in the same direction at 46 kmph and 42 kmph. The
faster train passes the slower train in 180 sec. What is the length of each train? / JHI m'l_sc P G ¥al AR
TS TR FH =1 H 46 it ufcr ger iR 42 o ufar ge1 iR 9 361 § 1 71 ¥ 180 Sovvus & it Ya 3t
UR Sl 3 | U ¥ B AvaTs o1 82

1. 100 m / 100 HIcR
2. 120 m/ 120 Hicx
3. 80 m /80 Hiex
4,90 m /90 HIeX

Correct Answer :-
« 100 m/ 100 HIeX

14) There are 30 students in a class. The average age of the first 10 students is 12.5 years. The average age of
the next 20 students is 13.1 years. What is the average age of the whole class? / T DET H 30 ﬁ%ﬂﬁﬁ%l YYH 10
ot &5t ofivra oMy 12.5 a9 31 3rTa 20 fa=nfi 1 s oy 13.1 af B 1 Wyl e ) s omg @
82

1, 12.5 years /12.5 T
2. 12.7 years / 12.7 Gl
3. 12.8 years / 12.8 CL

4.12.9 years / 12.9 98

Correct Answer :-

e 12.9 years/ 12999



15) A and B can do a piece of work in 12 days; B and C can do it in 15 days; and C and A can do it in 10 days.

If A, B and C work together, how many days will they take to complete the work? / A 3B Wwa‘ﬁ 12 ﬁ:[
BRI APAE; BN CIV s RA AR R IFAE; W e R ASH 10 A A HR awd 213 A,

B 3% C U 1Y BT Hd §, 91 BT &1 RT P A ol fpas i3 a1

1. 14 days / 14 &9
2. 10 days / 10 f&A
3. 12 days/ 12 e

4, 8 days / 8 &1

Correct Answer :-

« 8days/8faT

16) The sum of the ages of 5 children born at the intervals of 3 years each, is 60 years. What is the age of the

%oungestchild?/Wsﬁ%mﬁhﬂsaﬁﬁmmﬁﬂéoaﬁ%lﬂaﬁﬁ%aﬁﬁ&nﬂw

1. 6 years/ 6 GL
2. 12 years / 12 @Y
3. 8 years/ 8 GL

4. 10 years / 10 99

Correct Answer :-
e Gyears/6 qy

17) If Rs. 726 is to be divided among A, B, and C such that A : Bis 5: 4 and B : Cis 9 : 10, then how much will
B receive? / Ufd 726 TUV BT A, B, 3R C A UBR AU fParSara fF A:B,5: 48 3B : C,9: 108
dl B 3 fha= $UT UTed gR12

1. Rs. 540 / 540 30
2. Rs. 240 / 240 34T
3. Rs. 270 /270 39T

4.Rs.216/216 30

Correct Answer :-
« Rs.216/216 30

18) The average age of the rain in the first four days of a week was 26 mm. In the last three days, the average

was 29 mm. What is the average rain during the week? / Wm%maﬂﬁﬂ‘rﬁaﬁm 3N 26 faedt
7| 3ifew = R  sfivra 20 Rt T TeaTe & R it auf Far 82

(21)



1. 27.3 mm
2.27.5 mm
3.27.2 mm

4, 27.4 mm

Correct Answer :-

o« 27.3 mm

19) The average age of a class of 50 students is 20 years in 2017. What will be the average age of the class one

year later in 20182 /2017 ® 50 faenfia &1 wam o1 i 3my 20 a9 8 1 Fam Y i Mg TH ¥ uyTa
1+ 2018 H fHast gl

1. 19 yrs /19 T
2. 18 yrs/ 18 @Y
3.20 yrs /20 Y

4. 21 yrs /21 GL

Correct Answer :-
e 21 yrs/21 Gl

20) The age of Kunal is 18 years and the age of Rohan is 13 years. What will be the ratio of their age after 15

years? / T D1 3T 18 TH 3R e BT Mg 13 I 1 15 T &b TYTd, STD| 3R BT SUTd T SHIT?
1.33:28

2.2:1

3.12

4, 18:13

Correct Answer :-

o 33:28

21) By selling a radio set for Rs. 960, a man incurs a loss of 4%. At what price should he sell the radio in order
to gain a profit of 16%? / TP ST VT B 960 TUY T TG TH ATGH! Bl 4% BT JH A IoT USaT o |
16% BT ATY FITA B3 & (e 39 v goa wR &4l s anfge?

1. Rs. 1360/ 1360 ST
2. Rs. 1160/ 1160 ST
3. Rs. 1260/ 1260 T4

4, Rs. 1460 / 1460 ST
(22)



Correct Answer :-

e Rs. 1160/ 1160 T

22) Vimal buys 10 pens for Rs. 12 each and 15 pencils for Rs. 6 each and sells each pen for Rs. 14. How much
should he sell each pencil in order to earn a total profit of Rs. 65?7 / e | 12 70 e & R F 10 Fad
3R 6 TUA U@ & fedma | 15 URia &1 @ier 3R TS Tad & 14 3UA § 99 11 9 65 BT @ a1y
T H3A & 1Y, 38 Uds URid &1 fvam § da=r anfge?

1. Rs. 7.50 / 7.50 ¥Ud
2.Rs. 11/ 11 39
3.Rs.6/6 30
4.Rs.9/9 30

Correct Answer :-

. Rs.9/9%0

23) Find the average. / 3aa e |
7,16,26, 36,46 & 55

1.31

2.39

3. 41

4. 32

Correct Answer :-

24) A train covers 400 m distance in 24 sec. Its speed is / WQW 24 ABHUS H 400 W BY gﬁ T Bl %I
SHPI AT §

1. 60 kmph / 60 foH Ufdl ger
2. 30 kmph / 30 Tt ufa der
3. 5 kmph/ 5 fopuit Ui ger

4. 45 kmph / 45 T4 Ufd ger

Correct Answer :-

« 60 kmph / 60 T8I Ufd geT



25) Anand bought a Maruti car for Rs. 1,75,000. He spent Rs. 10,000 on car accessories and fittings. If he sold
the car for Rs. 1,95,000, how much profit will he earn? / 3T-~q 3 Th U= PR B 1,75,000 L EﬁﬂTl
I PR I 3R FBIET TR 10,000 TUY W fHu| Tfe 3T FR 1 1,95,000 U H 9 fear St ag
e ey HaR?

1. Rs. 40,000 / 40,000 SUY
2. Rs. 20,000 / 20,000 ST
3. Rs. 10,000 / 10,000 TUY

4, Rs. 30,000 / 30,000 ST

Correct Answer :-

« Rs. 30,000 / 30,000 SUY

26) To certain number 7 is added. The sum is multiplied by 5, the product is divided by 9 and 3 is subtracted
from the quotient. If the remainder is 12, what is the number? / FS¥fSa g 7 &t GﬁST TGT1 GRT H 5 P GRI
T[oTT o5t =ITaT 8, qoMTed i 3 | fauniora far simar @ ok WRTed 9 3 &1 e Sar 81 9fe uwa 12 8
A T /T 32

1. 48
2.40
3.24

4.20

Correct Answer :-

27) (10002 -9992) is equal to / (10002 -9992), P WR gl
1.1

2. 1,999

3.999

4. 1,000

Correct Answer :-

e 1,999

28) If 150 is 25% of a number, then 125% of that number will be ./ gfe TH HSIT FT 25%
’ 150 g o 39 I 6T 125% B

1. 750

(24)



2. 700
3. 720

4. 800

Correct Answer :-
e 750

29) Which one of the following four addresses is NOT EXACTLY same as the one given below? / faf@mar

Tai 4 O R R M ud & S G B9 9T U TS 22

Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(i) Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(ii) Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(iii) Michael Noah
18 Sha Wan Road,
Guangling Industrial Park, Yangzhou,

People's Republic of China (PRC)

(iv) Michael Noah

18 Sha Wan Road,

(25)



Guangqling Industrial Park, Yangzhou,
People's Republic of China (PRC)

1. iii

2.iv

3.1

4.1

Correct Answer :-

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / EiE|
3 1S e H, 3reRY 3R Hwnai w1 v wH fAfed €1 Tad Yuie ugsnae:

i.rtquo4001rouqt

ii.rtquo4001rougt

iii.rtquo4001rouqt

iv.rtquo4001rouqt

1. iii

Topic:- Science and Simple Arithmetic

1)

(26)



Thefollowing is the distribution of weights (inkg) of 25 persons: The class mark of the class 50-60 is:

Weight in kg:

30-40

40-50

50-60

60-70

70-80

Persons:

2

9

8

4

2

/25 =TTt % 9=t (Fram &) = Foowor i@ & 39t 50-60 #1 =1 g

Topam & a=7T: | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
=T 2 9 8 4 2

1. 50
2.55
3.8

4. 60

Correct Answer :-

e 55

2) mthe adjoining figure, AB || CD and 't'is the transversal. Ifa=7x-12and b=6x+7 thena=
J¥erd I 7 AB || €D AT v I Bl A a=7x- 123 b=6x+7.dl a=

4 A @—b 3
= /E:" =
c ;\/ D
1. 112°
2, 135°
3. 100°
4. 121°

Correct Answer :-

e 121°

3)
Divide (15x2 - 11x + 2) by (3x - 1) and find the quotient. / (1522 - 11x+ 2)F (3x - VW Fyafea 1

T TS AT L
(27)



4 Sx+1

Correct Answer :-

4)
In a parallelogram PQRS, if PQ =23 cm and SR =3v + 2, then vy = ./ TF THIT ?I_g'gi?l' PQRS

H ofg PQ=23TA. T sR=3y+28,dT y=
1.9
2.6
3.7

4.5

Correct Answer :-

. 7
5X -9 1 55X -9 1 -
Solve for x: =-= [x: =-=t TolU §a L
2K — 4 2 2 -4 2
E
1. - A
13
2.- =
EES
3. e
\
4, =

Correct Answer :-

H

1

. =)

Evaluate: ¥/ 125+ %/0.027 / ¥125+%0.027 &1 A 71d &1

(28)



1.5.03
2.0.53
3.53

4. 5.003

Correct Answer :-

8) A star is 12 light years away from the earth. How much time will the light take to reach the earth

from the star? | TP ART, Tl | 12 UHTRI a9 B1 g3l W 81 3T a1 I AT aF 3 | YHhTI=I Dl
fora=T o @2

1. 10 years / 10 TY
2. 15 years/153§
3. 5years/5a'5f

4. 12 years / 12 a9

Correct Answer :-

» 12 years /126&

9) A solar panel is better than a solar cell because: / ;ﬁ?@ﬁﬁmﬁ;ﬁﬁ'—mmi Tfp:

1. It can work day and night / g fe-31d HTH IR ISl 5
(29)



2. It is less expensive / g ®H e g g

3. It provides more electric power / I8 3 fagad Wfad UM HRaT 5|

4, It provides less electric power / I8 %1 fagad Afdd U&H &l gl

Correct Answer :-
« It provides more electric power / T8 ¥ fagad wfed UM HRaT g

10) Find the smallest number by which 1575 must be multiplied so that the product may be a perfect square. /

I TYAH - B [T B+ FordD GRT 1575 Y I fHa1 AT AR d1fes TROMH TP qui o3t g1
1.5
2. 11
3.7

4.3

Correct Answer :-

11) Devi lost 25% by selling a bicycle for Rs. 2250. Her C. P. is: / &d] ®1 TP TATgfbd 2250 0 H faspg &
R 25% B g1 § | SHPT pd Hed &:

1. Rs. 3150 /3150 0T
2. Rs. 3000 / 3000 T
3. Rs. 2920 / 2920 3T

4. Rs. 2800 / 2800 ST

Correct Answer :-

« Rs.3000/3000 ST

12) Which of the following is used to record intensity of an earthquake? / Fafafaada s Wﬁ?ﬁam
B gol B & 1T IUANT 3w ira 32

1. Seismograph / AT
2. Anemometer/ Q:‘ e
3. Barometer / KR

4. Electroscope / m

Correct Answer :-

(30)



« Seismograph / BRI

13) Aquatic animals survive because of the presence of atmospheric gases in water. This is possible due to

which of the following property of gases? / wﬁw@amﬁﬁ%waﬁuwﬁﬁaﬁ
g1 98 19 & Fufafea o 3 i quied & sRor gua g2

1. Surface tension / Y¥ d-ld
2. Viscosity / RUTdI

3. Fluidity / dXeidl

4, Diffusion / foqeor

Correct Answer :-

« Diffusion / fag=ur

14) Compute the compound interest on Rs. 8000 for 2 years at 10% per annum when compounded half yearly.

/2 a6t & T 10% ufaad 1R 8000 TUA F Tergies saTot Bt MUAT B3, od Thgfs sidfarie g1
1. Rs. 1642.50 / 1642.50 T0I

2. Rs. 1578.20 / 1578.20 S0

3. Rs. 1810.05 / 1810.05 ST

4. Rs. 1724.05 / 1724.05 S0

Correct Answer :-
e Rs. 1724.05/ 1724.05 Fcl'af

15) The diagonals do not bisect each other in a ./ fawut Udh Q'Qﬁ"dﬁ - q ﬁ"-lTﬁﬂ?l’ q?ﬂ'dﬂ%
gl

1. Rhombus / FHAGYS

2. Square / an

3. Trapezium / JHIH

4. Parallelogram / THIGR aﬂﬂ\_ﬁ

Correct Answer :-

e Trapezium / JHIH

16) The area of a rhombus is 120 cm?. If one of its diagonals is 24 cm, then the perimeter of the rhombus is: /

TS T IgYS BT §ABE 120 em? 31 TfS 3THT TP fawof 24 Tft. 3 O Toagys &1 ulRwmg 3:

(31)



1. 46 cm
2.32cm
3.48 cm

4. 52 cm

Correct Answer :-

e 52cm

17) Organelle with irregular net work of canals, running from the nucleus to the surface of the cell is: /

TS A HIRIPT B Tag q@ o1 T8, Awisi & sifaft Aead ard HifR1ei, 78 Hedrd 8-
1. Golgi bodies / Ticol @1

2. Lysosome / G-I

3. Endoplasmic reticulum / 3fdsed} SiferesT

4. Centrosome / dRM DB

Correct Answer :-

« Endoplasmic reticulum / 3fdgadt STferest

18) Neurons are cells of: / dfXBIRIHTT (QI\’}I'T-I‘) = 9 FIRre B g
1. Nerve / QA1

2. Neck / &3

3. Liver / 9opd

4, Kidney / 9o

Correct Answer :-

« Nerve/dE®T

19) In some animals both the sexes male and female release their gametes into the water. This type of

fertilization is called ./ B SFERI § 7R 3N HIeT gl o7 3= TWie Uil & Sisd 81 59
TPR & =" &1 P ST 8l
1. CIoning/HFﬁﬁT[

2. In vitro fertilization /Q?ﬁ@ﬁﬁ?ﬂ
3. Internal fertilization / 3ficR o=

4. External fertilization / ST&T o=
(32)



Correct Answer :-

« External fertilization / ST&I 8=

20) Name the organelle that helps in cell division and form asters at poles during cell division. / 39

PIHRIBAT BT A9 TATSY N HHRABT FAHUTS B TSTIP BT 3 TUT HIRIDT AU & THT i W
aR® BT i HRar g1

1. Central body / CRARAREIL]
2. Cytoplasm | DIBIGHT

3. Chromosome / T[UIR{A

4, Centrosome / dIRPhY

Correct Answer :-

« Centrosome / dRMDHR

21) A cuboid has total surface area of 414 cm? and if its LSA is 324 cm?, then the area of its base

is: / TP g4 § 414 A2 &1 $o YT 9% & 3R gfe 9@ uef Tag 87 324 12, § 9 SUP NUR
F1 &AFd 3t

1. 80 cm
2.90 cm
3.92 cm

4, 78 cm

Correct Answer :-

e 90 cm

22) Natural gas stored under high pressure is: / 3= GId & I AIE I Bt TI'€ L‘I‘I?ﬁl’cﬁ e
1. CNG / Sigsil

2. Water gas / oIcl I
3. LPG / Taisit
4. Producer gas / W o

Correct Answer :-

« CNG/Iigsit



23) Rat: 4 chambered heart; crocodile: chambered heart. / 9gI : 4 H&HIEGH; HIRAD:
— h&HIgcY

1.3
2.4
3.2

4.1

Correct Answer :-

24) What is the correct sequence of the following stages in the life cycle of dryopteris ?

Prothallus , sporophyte , sori , gametes , spores , zygote

/ STy & Sawras # i o o1 T rgwu w82

Wiy, demEige, e, g, s, g

1. Sporophyte, sori, spores, prothallus, gametes, zygote / @W@G’@E, Tﬂ\_rITﬂ?JFﬁ, aﬂTfﬂUl, Eﬁaﬂ, gD, JHAS
2. Zygote, sporophyte, spores, sori, prothallus, gametes / gHVI, @WW, T?ﬁ\_rl'lT{L aﬁ\_rITEf[‘ElFﬁ, EI-TQW, JiHD

3. Spores, sporophyte, sori, prothallus, gametes, zygote / EﬂGiTUL @GTU\],U@?Z, aﬁ\_rITE[M:ﬁ, Uﬁﬂﬂ, YD, YA

4. Spores, sori, prothallus, gametes, zygote, sporophyte / Eﬂ\_rlTUL milﬁ, Eﬁaﬂﬂ, Y, JIHAS, WTUJ,F@E

Correct Answer :-

» Sporophyte, sori, spores, prothallus, gametes, zygote / ool U 3@3, 'Sﬂ\_rquiﬂ'rﬁ, aﬂwa, Eﬁ%ﬂ, YHD, JIHAS

25) AOB is the diameter of a circle with centre 'O'. C is any point on the circle and AC and BC are
joined. If 2.CAB = 70°, then ~CBA = ./ $%'0' & I TP I« $T AT AOB §1 30 R &S i fig
C ? 3R AC 3ik BC ¥iga &1 afe ~CAB = 70°, @Y ~CBA =

1. 50°
2.20°
3. 40°

4. 30°

Correct Answer :-

26) In a periscope, the incident light falls on the reflecting mirrors at an angle of . / iRwg
T, Tufad UHT=T URTadl GUUN FHUTRWISATS |

(34)



1. 60°
2. 180°
3.90°

4. 45°

Correct Answer :-

e 45°

27) The radiation in sunlight which makes a solar cooker work is: / ?Iff & UpTT A fafezu, foraa 9k PP cap
AT, 8

1. Visible light rays / GRI-1d TGhTRT Bt =00
2. X-rays/ QW—W
3. Ultra violet rays / TRISTTHT faR0}

4. Infrared rays / 3{dXdd ool

Correct Answer :-

o Infrared rays / SdRckd oot

28) Extensive plantation of trees to increase forest cover is: / a7 &3 ® gfg H1 & forg URt
T=T H G&RIYUT HRAT I8 HaaTdl 8:

1. Social forestry / TSI dTfHD!
2. Agro-forestry / HN-al-®!

3. Afforestation / @1 Ul

4. Deforestation / fAd=iRur

Correct Answer :-

« Afforestation / GaR0T

29) Haemophilia is a/an ./ S wiferar v gl
1. congenital disease / SIS T

2. deficiency disease / 'sﬂ:ﬂﬁ T

3. acute disease / THORNT

4. chronic disease / dTHIferad I

Correct Answer :-

(35)



« congenital disease / SFHSITd T

30)

The product of (3x Tg) (3x -i) 1s: /(3x+ _%) (3x - s) T I[UTTHeT R

Correct Answer :-

16
Ox?-—
3

(36)



